8.2 Limits of Functions

Functions: f(x), g(x)
Argument: x
Real constants: a, k

749. lim[f(x)+g(x)]= lxiil}f(x)-i_ limg(x)

X—a X—a

750. lim[f(x)—g(x)]=limf(x)-limg(x)

X—a X—a xX—a

751. lim[f(x) g(x)]=limf(x) - limg(x)

X—a xX—a X—a

limf(x
752. lim f(x) =X ,if limg(x)#0.
X—a g(x) limg X xX—a g

xX—a

753. lim[kf(x)]=klimf(x)

X—a X—a

754. limf(g(x))= f(lim g(x))

X—a X—a

755. limf(x)=f(a), if the function f (x) is continuous at x =a.

X—a

sinx

756. lim =1
x—0 X
. tanx
757. lim =1
x—0 X
sin”' x
758. lim =1
x—0 X
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759. lim =1
x—0 X

760. limM=l
x—0 X
) 1Y

761. llm(1+—j =e
X—>00 X

762. lim(1+5) =e*
X—>00 X

763. lima* =1
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